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Note :

There are two sections in this paper, namely
Section A. and Section B. All questions in
Section A are compulsory. From Section B,
answer any three questions. :

SECTION A

1. Answer the following objective type questiohs by
selecting one best choice from the given choices.
Each question carries 2 marks. . : 10x2=20

(a)

(b)
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Where is RAM located on a Computer
System ? _

(i) Hard Drive

(ii)) Mother Board

(iii) CPU

(iv) CD-ROM

In which of the following formats is data -
stored in a computer system ?

(i) Octal

(i) Binary

(iii) Hexadecimal

(iv) Decimal
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(e)

®
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Which of the following is an assembly
language ? .

(i) High level programming language

(ii) Low level prograniming language

(iii) Middle level programming language -
(iv) Machine language

What is the full form of GUI ?
(i) = Graphical Unit Interface
(ii) Graphical User Interface
(iii) Graph User Instructions
(iv) Graphical Unified Instrument

What is the full form of ALU ?
(i) Arithmetic Logic Unit
(i) ASCII Logic Unit

(iii) Arithmetic Least Unit -
(iv) Arithmetic Logical Union

What is Unix ?

(i) Malware

(ii) Operating systeni

(iii) Kernel

(iv) Application program
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(g) Which of the followmg languages is used for
web designing ?

@ C++

@) SQL
Gii) Unix Script
(iv) HTML

(h) Which among the followmg is a secondary
storage devme ? ‘

@ RAM

i) ROM _
(111) Hard Disk
(iv) Cache Memory

(i) Which of the following components is mainly
~ used in making computer chips ? -
G Copper
(i) Iron
(iii) Steel
(iv) Silicon

(G) One Mega Byte is equal to
(). 1024 Bytes
(i) 1024 Bits
(iii) 1024 Kilo Bytes
(iv) 1024 Kilo Bits
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2. (a)

(b

3. (a)

(b)
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Explain how Unix-operating system is
different from Windows operating system.

Differentiate between Application Software
and System Software. Give two examples for
each.

Compare and contrast Simplex, Half-duplex
and Full-duplex modes of communication.
Also, give an example for each.

Draw and explain e_iny two network
topologies.



'SECTION B

- Note : Answer any three que.stions‘ from the following.

4. (a)
(b)
5. (a)
(b)
6 (@
(b)
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Describe the main features of Micro -
computers, Mini computers and

Mainframes. 12

Explam thg usage of the following with the

help of an example for each : 8
(i) If-then-else Statement |

(i) While loop

Explain the features, advantages and

-limitations of ‘Batch operating system’ and

‘Network operating system’. ' 10

For a computer system, discuss any five

security threats and suggest their possible

solutions. , 10

Differentiate between ROM, PROM,
EPROM and EEPROM. 10

Explam the smtchmg techmques commonly
used in Wide Area Network (WAN). 10
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7. Write short notes on the following :

(a)

(b)

()
@
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CASE Tools

Parallel Processing

GUI Components
RISC

4X5=20
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(9) RISC
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